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e Please write down the serial number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-script during this period.

HehTord GOIT-11
SUMMATIVE ASSESSMENT-IT

IEEIE]

SCIENCE
Ruifa a7 : 3 992 ] [ 3R 31 - 90
Time allowed : 3 hours | [ Maximum marks : 90
= 359 :
(i) 39 Y9I-95 FI & WO, WRT-3 3R 9GRT- § a127 747 81 379F) ai)
YTl % 99T & 3T for@ & |

[P.T.O.




| EDUGROSS

WISDOMISING KNOWLEDGE

31/1/1

(i)

(iii)

(iv)

v)

(vi)

(vii)

(viii)

WWW.CdIlgTOOSS. com

guft gy 3ifaar & |

ST WIT-37 SR WFT-& % G 5571 % I 926 -g9ah forad &1
UTT-3 & 997 G&IT 1 @ 3 F I99 UF 37 3 & 9% IR U 3158 9al
TH FFT 4G

I3 & I3 AT 4 § 7 3 T3 §1 371 % &1 399 IR 4T 30 TT=5]
73

WTT-37 & 597 G&IT 8 G 19 & Y97 717 3751 & & 598 I YT 50
AR R

WTT-37 & Y97 AT 20 @ 24 & 97 Gl %] & 8| T4 I 9T 70
Y= A3
UFT-& F T97 G&IT 25 § 42 3 Y99 JANTHF T W AT

Fglaredl v & | I v T 37 31 8| 183 73 9 [aedl § § 3maes!
#ac] Qeh Gad ITYHT fdshed g1 6 |

General Instructions :

(1)

(i)
(iii)

(iv)

v)

(vi)

The question paper comprises of two Sections, A and B. You are to

attempt both the sections.
All questions are compulsory.

All questions of Section-A and all questions of Section-B are to be

attempted separately.

Question numbers 1 to 3 in Section-A are one mark questions. These

are to be answered in orne word or in one sentence.

Question numbers 4 to 7 in Sections-A are twe marks gquestions.

These are to be answered in about 30 words each.

Question numbers 8 to 19 in Section-A are three marks questions.

These are to be answered in about 50 words each.
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(vii) Question numbers 20 to 24 in Section-A are five marks questions.

These are to be answered in about 70 words each.

(viii) Question numbers 25 to 42 in Section-B are multiple choice
questions based on practical skills. Each question is a one mark
question. You are to select one most appropriate response out of the

Jfour provided to you.

q-HA
Section-A

smryfirs s1rad Wt § b Seater waes & S geh! T A 87

How many vertical columns are there in the modern periodic table and what
are they called ?

wfe Igua TR ?

What is speciation?

S5- Pl 9o sa-Treemia safis! = 2 9o Feam! d Fl heb
=e ?

Why should biodegradable and non-biodegradable wastes be discarded in

two separate dust bins ?

i T A ST % R T S Gt # o ) wen W
B 21 36 T h g A

“The chromosomes number of the sexually reproducing parents and their

offspring is the same.” Justify this statement.

3 [P.T.O.
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“A ray of light incident on a rectangular glass slab immersed in any
medium emerges parallel to itself.” Draw labelled ray diagram to justify the

statement.

W AT ST i <) et v st ) el A ded ) 9
I geney, Sk 510 @i @ Aw sl & et w1 srywgE Feer
qgTae & fore T B

We often observe domestic waste decomposing in the bylanes of residential
colonies. Suggest ways to make people realise that the improper disposal

of waste is harmful to the environment.

AT WR TR el ST & Heg & ST i gt aTE I S iR |

List and explain any two advantages associated with water harvesting at

community level.

TS 1 AR 15 H,S0, # 443 K % 7 352 T s A1) H1fi7ep 367 10 ao
Sueh ArT-g3 foafay | a sl & @iz szodﬁgﬁwaﬂaﬁ@?ﬁﬁm
TR arett S1fiferan =1 e xfiaor fafan |

Write the name and the structural formula of the compound formed when
ethanol is heated at 443 K with excess of conc. H,SO,. State the role of

conc. H>SOy in this reaction. Write chemical equation for the reaction.




EDUGROSS

WWW.CdIlgTOOSS.COI]l

WISDOMISING KNOWLEDGE

10.

31/1/1

SHTel= o AITEHT oht AU 2oft 1 7 1w 47 = T2 77 foret e Avfi
¥ < AT YSH % (A g fafa qur 1 A & 37 97 = oo
HIRTC ST 37 (i) siiferen Torerd (i) Tt Qe FRuif@ d ¢

Why homologous series of carbon compounds are so called? Write
chemical formula of two consecutive members of a homologous series and
state the part of these compounds that determines their (i) physical

properties, and (ii) chemical properties.

A smyfres smad Ao & o ae R E -
sBe, oFe, 1451, 10K, 2Ca

() T ¥ 9% 9 gAY e Sread Hiv § U soEgE ¢ a9l 59 O Al
T Tes famme ferfiam |

(ii) ﬁaﬁiﬁﬁwa@%aaﬁﬁéﬁmwﬁmwm%ﬁm

(i) ¥ dc H ¥ WHH 7 o of dcd FHC| T A aedi A {hdeht T
RS SSTR 7

Given below are some elements of the modern periodic table :

aBe, oFe, 1481, 19K, 5,Ca

(1) Select the element that has one electron in the outermost shell and

write its electronic configuration.

(i1)  Select two elements that belong to the same group. Give reason for

your answer.

(iii) Select two elements that belong to the same period. Which one of

the two has bigger atomic size ?

5 [P.T.O.
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3yfeh 21Tad TRUf § o7l St gEd fakae | B sad & =t @ gRft otk s
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= ST W dc ol GArSehdl a1 TET-HIES T fohd WehR aRad g g7

Write the number of periods the modern periodic table has. How do the
valency and metallic character of elements vary on moving from left to
right in a period ? How do the valency and atomic size of elements vary

down a group ?

(a) wARET H geRyEd (YA wfER i smen fif |
(b)  YEgyEH it Ufghar S & FF yeR fim g 7

(a)  Explain the process of regeneration in Planaria.

(b) How is regeneration different from reproduction ?

(i) IR, AT (i) ST S&F F FA T AT A2 AfR F=RG I F AW
feafiay | =men Fifew 36 8 TR & T 3 g=or Y T Y & S ?

Write two examples each of sexually transmitted diseases caused by
(1) virus, (ii) bacteria. Explain how the transmission of such diseases be

prevented ?

IR AN I gERE @i H e W areht @ g |
TITCToRTSIG, ShITSTY | Sedieh S1879T ahl Uah 3eTalul +ff i |

Tabulate two distinguishing features between acquired traits and inherited

traits with one example of each.
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forelt Tt Rrgg = fomT W W@ € @ st (A 3 frar) # @ R o oft
56k ToTU STearll 78t A s wenat | Tt wasia gy & fom frafoor i wfzen
1 ZYH Tl WATE TR =l Herrel | 30 e & gfd Hifdm) '

“The sex of a newborn child is a matter of chance and none of the parents
may be considered responsible for it.” Justify this statement with the help

of flow chart showing determination of sex of a newborn.

(i) UvE gvF TN, a«T (ii) Qe ol § e feu s arel =g % R &
It FTHC | Yedieh W] § 70 3w 1 918 % foru <) shreott o gt sem5n |

Mention the types of mirrors used as (i) rear view mirrors, (ii) shaving

mirrors. List two reasons to justify your answers in each case.

6 cm FETE 1 HE o 5 om wreew g F TR sradel o ¥ e we ¥k
e o W 10 cm T W R 7| S-w3 1 30w w0k o g 9 e
wiafsr it feafer, wrest wd wanfa Raffa ik

An object of height 6 cm is placed perpendicular to the principal axis of a
concave lens of focal length 5 c¢cm. Use lens formula to determine the

position, size and nature of the image if the distance of the object from the

lens is 10 cm.

gEiea /Tt U IR % W gE & 0l T S 21 1 oo i | TelE
forq = hifsig |

State the difference in colours of the sun observed during sunrise/sunset

and noon. Give explanation for each.

7 [P.T.O.
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(a)
(b)

(a)
(b)

(a)
(b)

(c)

(a)
(®)

(©

(a)

(b)
(a)

®)
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TG T B 7 THF S W T Sl T SR |

=0 qIeTE T 3l i g Te wd, g Serstaeen # frafta v
A Y ATETIEAT Bl 2 | T T & e i |

What is an ecosystem ? List its two main components.

We do not clean ponds or lakes, but an aquarium needs to be cleaned

regularly. Explain.

“gureeg’ =i uftam faRay |

et s ot o10] g3 C,H0 % 31 Huifad gorerEi 6 SeaT
wieert 379 7 farfiau |

IR SHT AR Y FerTe - fag TeEmT Eite |

Define the term ‘isomers’.

Draw two possible isomers of the compound with molecular formula

C;H4O and write their names.

Give the electron dot structures of the above two compounds.

SifiTeR T TR YR % 5 T Ta9ET 1 aret o @ (i)
i g= S|
=T Fifer 3 S s 50 3o data # fafimsand == fews adi 2 7

List three distinguishing features between sexual and asexual types

of reproduction.

Explain why variations are observed in the offsprings of sexually

reproducing organisms’
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(a) Toumfemd A, B qAT C ! Y=Y 311 576 &7 feafiau | 5
(b) T ST o ATt el 3 e e gt At syfiven o ek AR

(a)  Identify A, B and C in the given diagram and write their functions.

(b)  Mention the role of gamete and zygote in sexually reproducing

organisms.

31/1/1 0 [P.T.O.
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(2)

(b)

(a)

(b)

(b)

(a)
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YHIYT o AYecd o [AEH] ol Feo e | fRer mrem % e
JATEAATES a1 Tl &) Falta § 91 & o9 g9y %) 29 are] SeE
fofau |

I % WIH& ST a1 hid & AUaa-ish wusl: 4/3 991 3/2 ¥ AR wa A
WIS &l =91 2x10° ms™ &, 1 (i) 91, (i) 9 | g9 hi =1 g1
FHifsre |

State the laws of refraction of light. Give an expression to relate the

absolute refractive index of a medium with speed of light in vacuum.

The refractive indices of water and glass with respect to air are 4/3
and 3/2 respectively. If the speed of light in glass is 2x10% ms™/, find
the speed of light ifi (i) air, (ii) water.

1§ AR 3T T T 50 om W F9 0 W R TR @ A6 v
AT 39 -3 AW TiE Sed g gt it &1 3@ 9w 6
ST < T wehm foheor o Eifom) 3@ 9w % @ g wwen
YT e | feret SUgEa < 1 SUEnT 0k 39 AW w1 eA fRE TR
Tora i weRa 8, T < 3 fore o e dif)

B THTER A T ST W A9-a | gEitd e 3Ee § | 39 TR
& Tt =1 wee fafau)

A person cannot read newspaper placed nearer than 50 cm from his
eyes. Name the defect of vision he is suffering from. Draw a ray
diagram to illustrate this defect. List its two possible causes. Draw a
ray diagram to show how this defect may be corrected using a lens

of appropriate focal length.

10
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(b)  We see advertisements for eye donation on television or in

newspapers. Write the importance of such advertisements.

HT -9
Section-B

25. IS O TRl Yo @Rl 7 2 mL TS - SR SO U g2k difean
TTEGISH e fHerar 8 | 98 fefefes tam s 1

L. 0T FEETEe & I = TIEH 9 neEE 9 fiead |
I 9% =0 & a3 7o) o W 38 it s 3 2

M. 9 %3 Jodl B9 = 19 F 7% ow € @ 98 19 fese % gy
ERGIES

IV. g 74, Sfe Sferd! a2t $6e 9w 3 @t STl 8 o) 36 g9 St B |
THY T IHE

(A) LIL &R I

B) 1,131V

(C) UL IVE#HRI

(D) IV, 13RI

31/1/1 1] [P.T.O.
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A student takes 2 mL acetic acid in a dry test tube and adds a pinch of

sodium hydrogen carbonate to it. He makes the following observations :
L. A colourless and odourless gas evolves with a brisk effervescence.
II. The gas turns lime water milky when passed through it.

III.  The gas burns with an explosion when a burning splinter is brought

near it.

IV.  The gas extinguishes the burning splinter that is brought near it.
The correct observations are : |

(A) L 11, and I1I

(B) ILIIandlV

(©) INOLIVandI

(D) IV,landll

fifesh 3T % OEHT I StemE w0 6 R s A i Rrenef o
el § ST 2 mL UEe v el 2| 97 39 eaweh § o1 2 mL S
e waEeett @t wefiifs feeen 2 | gvwer a2 2 fF o ag M = 5 -

(A) UHiR® st e & wes ol WA B |
(B) TorcToH ook Gt W T 81 TS |

(C) S UEifesh 3 h U W R @&
(D) UEifew s F R E R
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In an experiment to study the properties of acetic acid a student takes about

2 mL of acetic acid in a dry test tube. He adds about 2 mL of water to it and

shakes the test tube well. He is likely to observe that :
(A) the acetic acid dissolves readily in water

(B) the solution becomes light orange

(C) water floats over the surface of acetic acid

(D) acetic acid floats over the surface of water

27. Tt 39 3 U 9 § Y R e 1§ 20% HifeTn wegiese fSere s

TaF g A1e oy 1Y @ Yeqor 9 feu 7w 2

I wifeam gEgiemse TREH FET e |

. 98 8 e g s 2

M. e 8§ X &1t 381 0eid 2lal & |

Iv. e ferm & et forens o= it go W aE 38 e s aar g |
T HE T E

(A) LIS

(B) ILUIFIV

(C) MNLIVAI

(D) LILIIV

31/1/1 3

[P.T.O.
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A student prepared 20% sodium hydroxide solution in a beaker containing

water. The observations noted by him are given below.

L. Sodium hydroxide is in the form of pellets.

1. It dissolves in water readily.

III.  The beaker appears cold when touched from outside.

IV.  The red litmus paper turns blue when dipped into the solution,

The corect observation are :
(A) L IIandIIl

(B) II, T and IV

(C) I, IVandlI

(D) LI,andTV

TrefcrRaa smemt o1 SregEs HIvT - 1
L o sifufsee & srfufsmn-fasu & oor forene v gam o og e

T ST & T I8 et 1fyfsman & |
IL g stfifenar & srfirfsran-fismor & e foremd o g9 wems o

3 ofare T8 e U g8 S SR )

1. st stfifsean & ﬁh—mwﬁwﬁmﬁ@#mmm
¥ ufterd= T e a7 78 Fearei i

IV. e tfsafsean o stfwfman-fasm o e e o gan @ e o
B qiterd 7 gian do 78 S afifm B |

14
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SR SN AV FIE
(A) T1agrIl

(B) II@&IIl

(C) IIaAIV

(D) TaAMIV

Read the following statements :

IL.

1.

IV.

When a red litmus paper is dipped into reaction mixture of a

saponification reaction, it turns blue and the reaction is exothermic.’

When a blue litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

exothermic.

When a red litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

endothermic.

When a blue litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

endothermic.

Which of the above statements are correct

(A)
(B)
(©

(D)

Iand I
IT and II1
III and IV

Iland IV

15 [P.T.O.
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Rl R &l & & TIT SITavae ShoR e Shel sht TARTITEn # e TE € |
g AR # A R e sy ¥ | 3 wan i g e st § e
T AT 3% oA STTavEeh SR STet & S|

(1) Hicaad vehe (2) wifeam aehe

(3) Hfkem FiEs (4) drefimm ke

(5) Hifeam EEgSH FE e (6) fErm FeiRTEe
(A) 1,294

(B) 1,396

(C) 3,596

(D) 2,495

Hard water required for an experiment is not available in a school
laboratory. However, following salts are available in the laboratory. Select

the salts which may be dissolved in water to make it hard for the

experiment.
(1)  Calcium Sulphate (2)  Sodium Sulphate
(3) Calcium Chloride (4)  Potassium Sulphate

(5) Sodium Hydrogen Carbonate (6) Magnesium Chloride
(A) 1,2and4
(B) 1,3and6
(C) 3,5and6

(D) 2,4and5

16
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=z 3 o qwifu s et gre awg =1 wfafsne we gfda <X S we

'S 7% wTw e | A fe ol it sE gt ¥ g 40 om 2, @1 Fefafea @ @ wdt Fom

g?ﬁ d |

(A)
(B)
(S
(D)

L]

fla——40cm — 1

gfra X sHaraw B, e e gl 20 cm R |

i X raaer 0v & Sl e a 3 40 em® |

I X sraret qdor & forehl st Bsa1 40 em R |
gﬁﬁxmﬁa%%ﬁmﬁaﬁ 40 cm B! 1

A student focussed the image of a distant object using a device ‘X’ on a
white screen ‘S’ as shown in the figure, If the distance of the screen from
the device is 40 cm, select the correct statement about the device.

(A)
(B)
(C)
(D)

The device X is a convex lens of focal length 20 cm.
The device X is a concave mirror of focal length 40 cm.
The device X is a concave mirror of radius of curvature 40 cm.

The device X is a convex lens of focal length 40 cm.

17 [P.T.O.
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Torelt B 7 staae advr 5T A TIIE-AS % oy R W v g 6 saren
o1 fteor fefersr ud w2 wmw i | ador =) wiee gl w5 o oTRT W Wiy e %
fore ferer wetew A 3 wefiify =Rl e oo i oY SR #@
GE T3 | 38 B &) /41 A1 =Ry

(A) 38 U I Y3 | FETEHHT =R

(B) 39 U T VST IS =i 311 QLM =R |

(C) 38 340 a1 93 QT T e A 7T Y form A 37 T =Ry )
(D) 3WFTE Te Tl el g ¢ 7 farvar ot 391 wem SR

A student obtained a sharp image of a burning candle, placed at the
farther end of a laboratory table, on a screen using a concave mirror. For
getting better value of focal length of the mirror, the subject teacher
suggested him for focussing a well illuminated distant object. What should

the student do?
(A)  He should move the mirror away from the screen.
(B)  He should move the mirror slightly towards the screen.

(C) He should move the mirror as well as the screen towards the newly

selected object.

(D)  He should move only the screen towards the newly selected object.
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A Tafvrs ST 1o = foTg e | T aret wehTe foor o1 9y STRaa &
= T TRl BT 3 aagEdt ST v - q9 e 0 ¢ % |1 ot AT 3K

www.edugrooss.com

e fou 17aw arfersrr # e foma
&Y gE&T Li Zr Le

I 30° 20° 310
I 40° 250 40°
T 50° 3]° 49°

T TE U E

(A) 131

(B) IFIII

(C) I

(D) LI

After tracing the path of rays of light through a glass slab for three different
angles of incidence, a student measured the corresponding values angle of

refraction » and angle of emergence ¢ and recorded them in the table given

below :
S. No. Zi Lr Ze
I 30° 20° 31°
I 40° 25° 40°
III 50° 3 I°_ 49°

19
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The correct observations are :
(A) TandII

(B) TlandIll

(C) IandIII

(D) LII andlll

33, i ¥ TR T Y TR el wehre R s e ergifed s o fore i
& Tt SR  § HAAE SIEe i 6 87

———

(D (1)

(1) Iv)
@A) 1
(B) 1
(© 11
(D) IV

31/1/1 20
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Select from the following the best set-up for tracing the path of a ray of

light through a rectangular glass slab :

(D (II)

(111 (V)
(A) 1
B) 1
() 1
(D) v

3111 -2 [F.T.0.
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TR BET Y A9 iG] # s B qur fta for % g F9 Re o dn @

PO\

a9y |

)

Y

N

(1)

0 Tortur 1 | 9y 29Tl 3T 3IE &

(A) I
(B) I
(C) I

(D) IV

31/1/1 22

www.edugrooss.com
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While performing the experiment to trace the path of a ray of light passing
through a glass prism, four students marked the incident ray and the

emergent ray in their diagrams in the manner shown below.

S

s
N4

(I1D) Iv)

The correct path of the rays has been shown by

A) 1
B) 1
(C) I
(D) IV
31/1/1 23

[P.T.0.
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Wﬁ%%ﬁﬁ%%ﬁ%ﬁ%ﬁmﬁw_mﬁmmmw
W@am@%uﬁwﬁaﬁﬁmaﬁwm%ﬁﬁam:

(A)  mafe fomor & oo 2
(B)  mufera oot % wrama 2
(€)  Srvafdq oo & worar &
(D) amﬁaﬁm@rﬁwﬁ%mwwamm%i

In an experiment to trace the path of a ray of light through a glass prism for
different values of angle of incidence a student would find that the

emergent ray :

(A) s parallel to the incident ray
(B)  perpendicular to the incident ray
(C)  is parallel to the refracted ray

(D) bends at an angle to the direction of incident ray

‘P“!’

-




! . www.edugrooss.com
| EDUGROSS

WISDOMISING KNOWLEDGE

7

4y

U §2\

;-nh

) 8

& ;l/ﬁ\ﬁ\

37 sl F1 ghY R 3w A (9@ % e ER R ad 9 @i

TR

(A) Fasa 19l
(B) FEAIdII
(C) LU=
(D) LUV

31/1/1 25
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Study the following ray diagrams :

an —¢

Iv)

The diagrams showing the correct path of the ray after passing through the

Fy Fp >
. Y
~F, E

lens are :

A)
(B)
©
(D)

II and 111 only
I and II only
I, IT and IIT
LIl and IV
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@ ¥ it Tt gtg syrufee ot # @ 57 v ot gy S emada &
T 1 ITeH B & 3R et 399 sa@ o g1 = uiatera o ety sra

EICR: BT IAS IR Coe o 1
1
X 2
& WM :
(A) 1,293
(B) 2,394
(C) 3,495
D) 1,294

Out of the five incident rays shown in the figure find the three rays that are
obeying the laws of refraction and may be used for locating the position of

image formed by a convex lens :

r@%/

NP}

J ’\'

(A) 1,2and3
(B) 2,3and4
(C) 3,4and5
(D) 1,2and4

27 [P.T.O.
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#2 fRu v o Wi, st A Ry -

@@@@ @@

(I1) (1II)

TR HEI A -

(A) LV, IV, IL1I

(B) LILIV,V,II

(© LV ILIV.II

D) LIV, V,ILT

A student after observing a slide showing different stages of binary fission

in Amoeba draws the following diagrams. However these diagrams are not

In proper sequence :

@@@@ @@

(1)

The correct sequence is :
(A) LV, IV,IL 1
B) LILIV,V,II
© LV,ILIV,II
(D) LIV, VI I

31/1/1 28
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A 1 geper it wfsrn o fore @t wem g 1
L g g & fordt oty wm & s 2

I fog wifime & dafa Al § ffa 8 2 o sod i veem
T B e B

. Toehm & 9orsh 89 & O Yobe O o7=1 e o1 aoha 2| .
IV. 9 %S G5et TIgerma & Yoreh 8 SITaT & 9 a8 721 St =1 ST 2|

(A) LISl

®) LISV

(© NLIVaT

(D) IV, 191

Select the correct statements for the process of budding in yeast :
L. A bud arises from a particular region on a parent body.

II. A parent cell divides into two daughter cells, here the parental
identity is lost.

II.  Before detaching from the parent body a bud 'may form another bud.

IV. A bud when detaches from the parent body grows into a new
individual.

(A) LIlandll

(B) I, IIandIV

(C) I, TVandl

(D) 1IV,Iandll

29 [P.T.O.
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m@wﬁ%w&/ﬁmwﬁ%ﬁaﬁ%mmﬁwﬁaw%w
F Tafirg frsrat &1 ereas fifeg

L Te| A Yehehel JIadl Ty ST E |

I e % o qe gl & T Sl § eeed S|

M. e % TE quT =HEs] & G Sigait # ey 3 & |

IV, | ¥ sk qul el (STeaet) &1 AT e 3 eed S T

7wl e €
(A) 131

(B) UIdIV
(C) 13
(D) I SIV

Study the different conclusions drawn by students of a class on the basis of

observations of preserved / available specimens of plants and animals.

L. Potato and sweet potato are analogous organs in plants.
II. Wings of insects and wings of birds arc homologous organs in
animals.

III.  Wings of insects and wings of bats are analogous organs in animals.

[V. Thoms of citrus and tendrils of cucurbita are analogous organs in
plants.

The correct conclusions are :

(A) TandII
(B) MandIV
(C) IandIll

(D) IlandIV
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41. 9k ST F I H AR ¥ WE W el i ulsEt S ere], me, gel,
TERTRal, ZHIEE G9T 3Te(a B | T8 ¥ o I9eula Taaiee S gusa aceHTet @i

e F 8 1

(A) e T THIX

(B) TSI QT ZHIX |
(C) e o yrTehdt

(D) IS a7 At

You have potato, carrot, radish, sweet potato, tomato and ginger bought

from the market in your jute bag. Identify two vegetables to represent the

correct homologous structures.

(A)
(B)
©

(D)

31/1/1

Potato and tomato
Carrot and tomato
Potato and sweet potato

Carrot and radish
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9T T 3T % A, B 991 C 9T a3 & -

(A)
(B)
©
(D)

In the figure, the parts marked A, B and C are sequentially :

(A)
B
©

(D)

A

B
T, YA a1 oo
AT, WP T soig
IR, SISt o1 g

A

B

Plumule, Radicle and Cotyledon
Radicle, Plumule and Cotyledon
Plumule, Cotyledon and Radicle

Radicle, Cotyledon and Plumule

32




